Review for Exam 12

1. _2
Express the sum +~23 + 24/-% as a monomial in terms of i.

1. 11 3. 5i+6
2. 11i 4. 6i

2. _4
Express the product of 4 — 3i and 2 + i in simplest a + bi form.

I. 2+11Li

2. 2-11:

3. 11+2i

4. 11-2i
3. _2

The product of 5 —2iand i is

Expressed in a + bi form, (1 + 3i)? is equivalent to

1. 10+6i
2. —8+6i
3. 10-6i
4. -8-6i
5.3
Expressed in a + bi form, > s equivalent to
3+i
1 oo
8 8
2. 2 _si
3
-
2 2

4. 15-5i



6. _4

Express i

-1

in simplest a + bi form.

1. 2i 3. 2—i
2. 1-2 4. 2+

7. _4
Subtract (3 — 2i) from (-2 + 3i), and express in a + bi form.

. 1+i

2. 1-i

3. 5-5i

4. 5+5i
8. _2

Simplify and express in a + bi form: (12 + 3i) — (3 — i)

1. 9+2i
2. 9+4i
3. 15+2i
4. 15-2i
9. 3
The expression i'? is equivalent to
. 1 3. -1
2.0 4. i
10. _2

Evaluate: —10x°

1. 10 3. -10x
2. =10 4. 10/x

11. _4
The value of (2/°)? is
1. 6 3. -8

2. 6i 4. 8i



12. _1

2
The expression # 2 is equivalent to

N
[ O R

> w
N

13. _1
Evaluate: 40— 823 + 9172

1. 0 3.3
2. =5/6 4. 19/6

14. 4
What is the value of i — 3?

1.1 3.
2.% 4.0
15. _3

1
If x is a positive integer, 4 x< is equivalent to

1.

2

x

2x
4fx

x
1
x

TS
N



l16. _2

J

The expression # 2 , b >0, is equivalent to

1
1. 2
R
1
2. T3
[ a0 |
3
3 —|aB |
2
4. ()
17. 2

.4 . .
The expression 16a°2% s equivalent to

1. 24%b
3

2. 2a3h
3. 4ab

£
4. 4a°b

18. _1
Which expression is equivalent to x

49

[\S]

19.

. 1
6
2. 1
3
3. -6



20. _2

Two complex numbers are graphed below.

Imaginary
A
u‘. 5
\'\
TP
i = Heal
5
L

What is the sum of w and u, expressed in standard complex number form?

1.7+3i 3.5+7i
23+7 4.-5+3i

21. _4
L2+ .
The expression is equivalent to
3+i
1, Bt
B
Y it
B
3, el
10
4. T+
10
22. _4

What is the multiplicative inverse of 3;?

1. -3i
2.3
3.1
3
4. -

1| e



23.

Rewrite the expression x% using radicals.

\O§]

|
1. fx
, 1
Y
X
3. Hx
4. 41
X
24, 4

Rewrite the expression @& " using radicals.
1. ~fa
2.

3.

4. a-dp

m|%,‘é_-1|a .';\"l

25.

Rewrite the radical expression {2 y4 using exponents. Do not leave the answer in terms of a fraction. Use negative

exponents when needed.

[E—

1. x%y%

2. x50

3. 44

4. 3x2y4
26. _2

Simplify the expression (5 otz )'3 so that it uses positive exponents, only.

L. 21627205

2. ¥°
216x 2"

3‘ —18_}?12
-2
i

4. _}’12

18x°2°



27.

o

. . . .24 . .
Simplify the expression * 2 £ so that it uses positive exponents, only.

xy'4 i
A
I}?ﬁzﬂ
2. | »= i
X
3 . _}’622
[l
X
4‘ x4}3622
28. _2
Simplify the expression 67a”b" oo that it uses positive exponents, only.
5ab”
1. 25k
&
9 25
6a'h
3. 150a*
4. 3
Sa*h
29. _2
Simplify the expression 4 and put it into @ + bi form.
1=t
1. 8-
5
2 —8+ di
3
3. di—8
3
4. 8-




30. _3

Simplify the expression 3+3 and put it into @ + bi form.
Tot

1. =3

2
k]

=
3 = + 3
2
4. 3+ 3
&

N
e

31. _1

Simplify the expression 2=4 and put it into @ + bi form.
i

—4—2i
4-2i
—2—4i
2—4i

Sl

32. _2

Simplify the expression S+6¢ and put it into a + bi form.
4 -2
1 16+17

10
7 A+17i

10
3. 4+17i

20
4 4+34

10

33. _1
Express the multiplicative inverse of 3i + 1 in a + bi form.

1. 1-3
10
2. -1-3
10
3. -1+75
10
4 1-3%

g £



34. _3
What is the absolute value of the vector resulting from graphing the complex number —3 — 6i?

.45
945
345
5

H W N =

35. _2

What is the absolute value of the vector resulting from graphing the complex number 2 + 8i?

1. 68
2. 2417
3. 44f17
4. 4

36. _3

What is the absolute value of the vector resulting from graphing the complex number —4 + i?

1. 3i-f2
2. 15
3. 17
4

.17



37. What is the complex number graphed below?

Fi- 2=is

wt
i

Answer: 2 + 3i
38. _1
S .
The expression is equivalent to:
4,3
a b
1 a’
B
A
&
2. a
3. a
b
4. 2L
39. _3

5.9
What is the simplified form of 14% ?
2

12x5y9
7x6y12
76
7x5y3

.



40. _3
What is the conjugate of —3 + 2i?

—2+3i
3-2i
-3-2i
2-3i

bl e



